S0 =r

[ Am#®S FEhBVY
b
$20(Ro¥s) % %

O— ¥ 1
| ) | SN
ENAAy DERS
E;D
[ E\@ ‘
$25(Rc1) n E PT6B—55,1100%4&
[CEE=R ) H ' =
T (]
| oL | dX¢
\
ax_— | \®/ -
z 8 No | % i No | % ¥
?C;v(qﬁ%émm 1 |[EAh&> 7&Kk 9 |E &
2 757 Ty d)| 10 T
3 |7 4 g1 [ HTETVYTY b
4 |7 = gl12 (U Ty x>
5 |& S £13 |=2 v 7T W
6 |E El14 | v v 7
XEHZA v FEAEN 7 |I v K| 15 [I¥ v F
EgAvb Fork | g [ v K[16 |7 5 F
HRIRBERTYT. 34 ——
BROKBC AL, (A RHOBER LB 5ME THEATE XY,
(2)FA. FHEOR, REREELTEVET, BRICBMY 4
IEEESBHLET,
B : mm
O " % BE #HOo& € T & BE | EBARI b
d 7 > L |IH|OH|IL|OL| d |DOH|/TD|TH| TL | TP | KL |TK1|TK2| kg g
32 |PT6B-10-3.5K-32| 100{300|300(220|220|Rc11/4|114|357 |1285|1356| 400/230|120({120| 43|M12X160
40 |PT6B-10-3.5K-40| 100/300|300|220(220|Rc1/2|114|357 |1285|1356| 400/230/120(120| 43|M12X160
32 |PT6B-26-3.5K-32| 260/350|350|300|300|Rc11/4|111|507 |1588|1662| 560/310|120(120| 73|M12X160
40 |PT6B-26-3.5K-40| 260/350|350(300|300|Rc11/2|111 {507 |1588|1662| 560/310|120({120| 73|M12X160
50 |PT6B-26-3.5K-50| 260/350(350|300|300|Rc2 111|507 (1588|1662 560(310(120(120| 73|M12x160
32 |PT6B-55-3.5K-32| 5501420(420|375|375|Rc11/4|115|657 |1966|2028| 800/430|160(160|117 |M16X200
40 |PT6B-55-3.5K-40| 550(420(420|375|375|Rc11/2|115|657 |1966|2028| 800/430|160({160|117 |M16X200
50 |PT6B-55-3.5K-50| 550(420(420|375|375|Rc2 115|657 (1966|2028 800{430(160|160|117|M16%x200
50 |PT6B-110-4K-50 [1100/720(720|535|535|Rc2 262|962(1992|2082(1100/580|160| 160|291 [M16Xx315
65 |PT6B-110-4K-65 [1100/720|720|535|535|Rc21/2 | 262 | 962 |1992|2082(1100/580|160| 160|291 |M16X315
BMEAHE - EZE - EiRET
i DA o mEE
ZTEREAICEWRRIC £ &L, EAHEH - BREPHEELETHYET,
& #Zmm| 75 | 100 & #Zmm| 75 | 100 & Zmm)| 75 | 100
EHX%S (MPa) |04-06+1.0-1.5:20-25 H B ® X MPa EAHX%S (MPa) |04:061.0:152025
B — BT RERS CHF—Ty 7 (REIEDR). IR RZy T )Ty %>
. g & POEREED g5 g
. Ll F-VBSRty b T oA T
- _ F-VBfB&ty | 1.4 [FAKBEEZA T
. = el F-VBfiB&ty b F—IWATFUL X
14KA (FrkBhIE 2 1 7))  28KA (FRAKBALEZ 1 7)) |[F-VBASEEy | 2.7 |FAKBHIEZA T

507




